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BOOKS - CENGAGE MATHS (HINGLISH)

AREA UNDER CURVES

Question Bank

1. The area enclosed by  and  -axis

where  is the inverse of  is

View Text Solution

g(x), x = − 3, x = 5 x

g(x) f(x) = x3 + 3x + 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pwCZq7X7jo9w


2. Let `f(x) = { [2 x, 0 le x<1 ],[2, 1 le x le 3 ],[8-2 x, 3 If the

area of region bounded by the curve

S (S/3)`.

View Text Solution

|y + 1| = f(x + 4)is thenf ∈ dthevalueof

3. A differentiable function satisfies 

with initial conditions . The area enclosed

between  and the  -axis is.

View Text Solution

f ′ (x) = f(x) + 2ex

f(0) = 0

f(x) x

4. The area of the region (s) enclosed by the curves

 and  isy = x2 y = √|x|

https://dl.doubtnut.com/l/_HJKZV248fn9G
https://dl.doubtnut.com/l/_n1ILRwsdhJih
https://dl.doubtnut.com/l/_nzbJ9UYeDrRu


View Text Solution

5. The area (in sq. units) bounded by the curves  

 and  is

View Text Solution

y = x

(x − 3)2
y = x

6. Area of the region enclosed between the curves

 and  is

View Text Solution

x = y2 − 1 x = |y|√1 − y2

7. If  is a periodic function with period 3 and defined

as 

f(x)

https://dl.doubtnut.com/l/_nzbJ9UYeDrRu
https://dl.doubtnut.com/l/_VWYmALwy4I74
https://dl.doubtnut.com/l/_evtdocjTv2CU
https://dl.doubtnut.com/l/_oO0MfrRUDzhs


then the value of  (where [.] and . denote

greatest integer and tionalpart functions, respectively)

View Text Solution

f(x) = [{x}, x ∈ (0, 1)], {x}x ∈ (1, 2)], [{ − x}x ∈ (2, 3)]

12

∫

3

f(x)dx
1

3

8. If area bounded by curves  and 

 is 'A' (in sq. units), then value of  is

View Text Solution

y = (|x| − 2)2

y = 4 − x2 3A

9. If line  divides the area bounded by the curve 

 and  in two regions of

area  and , then  is equal to

x = 1

2x + 1 = √4y + 1, y = x y = 2

R1 R2 ÷
1

R2
1

1

R2
2

https://dl.doubtnut.com/l/_oO0MfrRUDzhs
https://dl.doubtnut.com/l/_NkHIIvUCZuB3
https://dl.doubtnut.com/l/_IbsC8y5XJYpV


View Text Solution

10. Area of the region bounded by the curves

 and  is

View Text Solution

y = 4, y = √x x = − √y

11. The shaded area enclosed by 

coordinate axes and the ordinate at  is 45 sq. units.

If  and  are the  -axis intercepts of the graph of

 then the value of  equals
FIGURE

View Text Solution

f(x) = 12 + ax − x2

x = 3

m n x

y = f(x) (m + n + a)

https://dl.doubtnut.com/l/_IbsC8y5XJYpV
https://dl.doubtnut.com/l/_8MAwWLTEBB5N
https://dl.doubtnut.com/l/_heXycZ5cYv4L


12. The area enclosed by the parabola  and its

latus rectum is

View Text Solution

y2 = 12x

13. The area bounded by the curve  and

tangent at  and  -axis is

View Text Solution

y = x2 + 2x + 1

(1, 4) y

14. If the area enclosed between

 and  -axisf(x) = min (cos − 1(cos x). cot − 1(cot x)) x

https://dl.doubtnut.com/l/_jESCWZrrYNLR
https://dl.doubtnut.com/l/_2PK1N75FpBj8
https://dl.doubtnut.com/l/_3JTNEGCauoV9


in  is  where , then  is equal to 


View Text Solution

x ∈ (π, 2π)
π2

k
k ∈ N k

15. If area bounded by  and 

 is minimum, then  'is equal to

View Text Solution

y = x2 − 2x − 1

mx + y − 1 = 0 m

https://dl.doubtnut.com/l/_3JTNEGCauoV9
https://dl.doubtnut.com/l/_hLv3XPM8aCE2


16. The area bounded by the curve  and 

 is  sq. units, 'then the value of  is [Note: 

 denotes grẹatest integer less than or equal to

View Text Solution

y = x2

y =
2

1 + x2
λ [λ]

[k]

17. If the area bounded by the parabolas 

and , where  is 48 sq. units

then  is equal to

View Text Solution

y2 = 4α(x + α)

y2 = − 4α(x − α) α > 0

α

18. 'If the area bounded by the graph of

 and the abscissa axis is  then they = xe−ax(a > 0)
1

9

https://dl.doubtnut.com/l/_4iuXfNPBtVdh
https://dl.doubtnut.com/l/_Q9iShkML1DM3
https://dl.doubtnut.com/l/_0uTNsYXXMLFL


value of '  ' is equal to

View Text Solution

a

19. The area of the quadrilateral with its vertices at the

foci of the conics  and

, is

View Text Solution

9x2 − 16y2 − 18x + 32y − 23 = 0

25x2 + 9y2 − 50x − 18y + 33 = 0

20.  is a function which satisfies 


(i) 


(ii)  and 


(iii) 
 then the area bounded by the graph of 

, the lines  and , is

y = f(x)

f(0) = 0

f ′
' (x) = f ′ (x)

f ′ (0) = 1

y = f(x) x = 0, x − 1 = 0 y ÷ 1 = 0

https://dl.doubtnut.com/l/_0uTNsYXXMLFL
https://dl.doubtnut.com/l/_fjysLz451Ypq
https://dl.doubtnut.com/l/_7Ic8hscCGYWy


View Text Solution

https://dl.doubtnut.com/l/_7Ic8hscCGYWy

